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“Honesty isthe best policy.”
Aesop (~ 620B.C=?)

“ An honest mind possesses a kingdom.”
Lucius Annaeus Seneca (4B.€65A.D.)

“Honest people are the true winners of the universe.”
Anonymous

“Honesty is not for sale.”
A. Inan




(1) (15 mins.,_Total30 points)TDR characterization. A TDR experiment
IS constructed to determine the unknown parametéra distributed
circuit as shown. Based on the source-end voltageeform observed
on the TDR scope (provided below):

(a2)(20 points) Determine the values &, t5, andR_. Show your work
clearly. (Use a bounce diagram.)

(b)(10 points) Sketch the load-end voltageas a function of timefor
the time interval &t < 2 ns.
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(2) (15 mins., 35 points)Multiple transmission lines. For the three
transmission-line circuit shown, the switch cloaés= 0. Assuming all

the lines to be uncharged befare 0, sketch voltagess , 21, and 2/,

betweent = 0 to 10 ns. Use bounce diagram. Provide allpiainent
values on your sketch.
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(3) (15 mins., 35 points)Reactive termination. In the transmission-line
circuit shown, the switch closestat 0O, after being open for a long time.
Find the complete mathematical expressions andalsheith the source-

end voltagezs and the load-end voltage as a function of time. Sketch
the two waveforms separately. Provide all the pertt values on each
sketch.
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